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Note : Question no. i is compulsory. A ttcmpt any six 

auestion:-; from. Q. No. 2 to 8. 

1. 	(a) 	Define the following terms : 	 5 

(i) Echolocation 

(ii) Pronephros 

(iii) Mimicry 

(iv) Living fossil 

(v) Cloaca 

(h) Name the animal in which the following 	5 
organ/ structure is found : 

(i) Air sacs 

(ii) Diastema 

(iii) Weberian ossieles 

(iv) Patagium 

(v) Marsupium 
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5. (a) 	Explain the mechanism of bioluminescence. 	5 

(b) 	Describe migration in birds. 

6. 	(a) 	Explain intromittent organs of amniotes. 	5 

(b) State one function of each of the following 

hormones in mammals : 

(i) Glucagon 

(ii) Testosterone 

(iii) Oxvtocin 

(iv) A Di i 

(v) Thyroxine 

(a) List any five salient textures of class  

Amphibia. 

(b) Describe major terrestrial adaptations cif 

reptiles. 

8. 	Draw neat and labelled diagram of any 

the following. 

(a) Pelvic girdle of frog (Lateral iew )  

(b) Internal ear of marnmal 

(c) V.S. of mammalian skin 
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